


Question 1 

 

 

 

 

Question 2  

𝐴(2; 3)  𝐵(7; 6)  𝐶(4; 1)

𝑑1 𝑑2

𝑑1 𝑑3 𝑦 = −2𝑥 + 8

𝑑2 𝑑3

 (−2; 6)

 (−1: 5)

 (1; 6)

 (1; 7)

Question 3  

sin(𝛼) =  −0,8 𝜋 ≤ 𝛼 <
3𝜋

2

tan(𝛼)

 2 3⁄

 3 4⁄

 4 3⁄

 √3



Question 4  

𝑃, 𝑄, 𝑆 𝑅 𝑃𝑄⃗⃗⃗⃗  ⃗

𝑆𝑅⃗⃗⃗⃗  ⃗ 𝑃𝑆⃗⃗ ⃗⃗  𝑄𝑅⃗⃗ ⃗⃗  ⃗.

𝑄𝑆⃗⃗⃗⃗  ⃗ − 2𝑃𝑄⃗⃗⃗⃗ ⃗⃗ ⃗⃗  

𝑃𝑆⃗⃗ ⃗⃗  𝑃𝑅⃗⃗⃗⃗  ⃗

 3 𝑃𝑆⃗⃗ ⃗⃗  − 4 𝑃𝑅⃗⃗⃗⃗  ⃗

 4 𝑃𝑆⃗⃗ ⃗⃗  − 3 𝑃𝑅⃗⃗⃗⃗  ⃗

 −3 𝑃𝑆⃗⃗ ⃗⃗  + 4 𝑃𝑅⃗⃗⃗⃗  ⃗

 −4 𝑃𝑆⃗⃗ ⃗⃗  + 3 𝑃𝑅⃗⃗⃗⃗  ⃗

Question 5  

𝛼
𝜋

2
≤ 𝛼 < 𝜋

cos4(𝛼) − sin4(𝛼) =
1

2

𝛼

 𝛼 =
𝜋

2

 𝛼 =
2𝜋

3

 𝛼 =
3𝜋

4

 𝛼 =
5𝜋

6

 



Question 6  

 

 

 

 

Question 7   

 

𝑎 𝑏 𝑎2 ≥ 𝑏

√𝑎 + √𝑎2 − 𝑏

2
+ √𝑎 − √𝑎2 − 𝑏

2

 √
𝑎+𝑏

2
 

 √𝑎 − √𝑏

 √𝑎 + √𝑏

 √√𝑎 − 𝑏

 



Question 8   

𝑓 ]0;+∞[

𝑓(𝑥) =
ln(𝑥) + 1

𝑥

𝑓′ 𝑓

 
𝑥

𝑥+1

 −
1

𝑥3

 −
ln(𝑥)

𝑥2

 −
ln(𝑥+1)

𝑥2

Question 9   

 

 

 

 

 



Question 10  

√(1 + √5)
2
− √(2 − √5)

2

 √6√5 − √3

 √6√5 − 3

 2√9 − 3

 2√5 − 1

Question 11  

𝑓

𝑓(𝑥) = 36𝑥 − 2𝑥2 − 34

 

 

 

 

Question 12 

𝑥 ∶
(𝑎𝑥)3 − (𝑎𝑥)2 + 𝑎𝑥 = 0

𝑎 𝑥 = 0

 𝑎

 𝑎 = 0

 𝑎 = 0 𝑎 = 1

 𝑎



Question 13  

𝐹

𝐵

𝑉

𝑁𝑎

𝑁𝑦

 (1200 − 12)𝑁𝑦 − 𝑁𝑎(𝐹 + 𝑁𝑎𝑉 + 𝐵)

 (1200 − 12)𝑁𝑦 − (𝐹 + 𝑁𝑎(𝑉 + 𝐵))

 (1200 − 12)𝑁𝑦 − (𝐹 + 𝑁𝑎𝑉 + 𝐵)

 (1200 − 12)𝑁𝑦 − (𝐹 + 𝑉 + 𝐵)𝑁𝑎

Question 14  

𝑓′ 𝑓

𝑓(𝑥) = 3√𝑥23
− 4√𝑥3

𝑥 = 1 ?

 −4

 −2

 −4/3

 −2/3



Question 15  

𝑓

𝑓(𝑥) =
3

𝑥
− 2 +

4𝑥2 − 2

𝑥2 + 1

𝑓

𝑂𝑦 ?

 (0;−4)

 (0; −2)

 (0; 2)

 (0; 4)

 



𝑡, 𝑡0

𝑑2 𝑑3, 

𝑑2 𝑑3 𝑑2. 

𝑑2 𝑑1 𝑚2

𝑚1 𝑑1. 𝑑1 !

• (𝑥1; 𝑦1) (𝑥2, 𝑦2) 𝒎 =
𝒚𝟐−𝒚𝟏

𝒙𝟐−𝒙𝟏

• 𝑚1 𝑑1 𝑚2, 𝑑2 𝒅𝟏 ⊥ 𝒅𝟐  ⇔ 𝒎𝟏 ⋅ 𝒎𝟐 = −𝟏

• 𝑦 = 𝑎𝑥 + 𝑏 𝑎

• (𝑥1; 𝑦1)

𝑦 = 𝑚𝑥 + 𝑏 ⇒ 𝑦1 = 𝑚𝑥1 + 𝑏, 

• 



• 

• tan𝛼 =
sin𝛼

cos𝛼

• cos2 𝛼 + sin2 𝛼 = 1

𝑃𝑄⃗⃗⃗⃗  ⃗ 𝑆𝑅⃗⃗⃗⃗  ⃗ 𝑃𝑆⃗⃗ ⃗⃗  𝑄𝑅⃗⃗ ⃗⃗  ⃗ , 

• 𝐴𝐵⃗⃗⃗⃗  ⃗ = 𝐴𝐶⃗⃗⃗⃗  ⃗ + 𝐶𝐵⃗⃗⃗⃗  ⃗

• 𝐴𝐵⃗⃗⃗⃗  ⃗ = −𝐵𝐴⃗⃗⃗⃗  ⃗

• 𝐴𝐵⃗⃗⃗⃗  ⃗ 𝐶𝐷⃗⃗⃗⃗  ⃗ 𝐴𝐵⃗⃗⃗⃗  ⃗ = 𝐶𝐷⃗⃗⃗⃗  ⃗

cos4(𝛼) − sin4(𝛼)

𝑎2 − 𝑏2 = (𝑎 + 𝑏)(𝑎 − 𝑏)

cos2 𝑥 + sin2 𝑥 = 1 !

cos2 𝑥 − sin2 𝑥 = cos(2𝑥) 

𝛼
𝜋

2
≤ 𝛼 < 𝜋



𝜎 = √(
∑ (𝑥𝑖 − 𝜇)2)𝑛

𝑖=1

𝑛
)   

• 𝑛 𝑥1, … , 𝑥𝑛

• 𝜇

• 

• é𝑐𝑎𝑟𝑡𝑠2

• 

𝜶 =

" … "

     

𝛼

• (𝑎 + 𝑏)2 = 𝑎2 + 2𝑎𝑏 + 𝑏2

• (𝑎 + 𝑏)(𝑎 − 𝑏) = 𝑎2 − 𝑏2

• (𝑎 + 𝑏) = √(𝑎 + 𝑏)2



• (
𝑓

𝑔
)
′

=
𝑓′𝑔−𝑓𝑔′

𝑔2

• (ln 𝑥)′ = 1/𝑥 

(𝑙𝑛  (𝑓(𝑥)))′ =
𝑓′(𝑥)

𝑓(𝑥)

𝑚 =
𝑥1+𝑥2+𝑥3+𝑥4

4

• 

• 

(⬚)2 √⬚

√𝒂𝟐 ≠ 𝒂 ‼ √𝒂𝟐 = |𝒂|
√(−5)2 𝑎 = −5.

√(−5)2 = √𝟐𝟓 ≠ −𝟓
√(−5)2 = √𝟐𝟓 = 𝟓     (= |−𝟓|)

     



• 𝑎𝑥2 + 𝑏𝑥 + 𝑐 

o 𝑎 > 0 ,

o 𝑎 < 0 ,

• 

√𝑏2 − 4𝑎𝑐.

o 𝒂 > 𝟎,

• Δ = √ 𝑏2 − 4𝑎𝑐 < 0 

• Δ = √ 𝑏2 − 4𝑎𝑐 = 0 

𝒀 =
𝟎



• Δ = √ 𝑏2 − 4𝑎𝑐 > 0 

o 𝒂 < 𝟎,

• Δ = √ 𝑏2 − 4𝑎𝑐 < 0 

• Δ = √ 𝑏2 − 4𝑎𝑐 = 0 

𝒀 = 𝟎



• Δ = √ 𝑏2 − 4𝑎𝑐 > 0 

• 

• 𝑏2 − 4𝑎𝑐 < 0 𝑎𝑥2 + 𝑏𝑥 + 𝑐,

•  √𝑥𝑎𝑛
= 𝑥

𝑎

𝑛

• (𝑥𝑛)′ = 𝑛 𝑥𝑛−1

• 𝑥−1 =
1

𝑥



• 

+ ∞ 𝑜𝑢 − ∞ 𝑓(𝑥) 

lim
𝑥→∞

𝑓(𝑥) = 𝑙 lim
𝑥→−∞

𝑓(𝑥) = ℎ 𝑙 ℎ ∈ ℝ

𝑦 = 𝑙 (𝑜𝑢 ℎ)

• 

lim
𝑥→∞

𝑓(𝑥)

𝑔(𝑥)
lim
𝑥→∞

𝑓(𝑥) =∞ (𝑟𝑒𝑠𝑝. 0)  𝐸𝑇 lim
𝑥→∞

𝑔(𝑥) =∞ (𝑟𝑒𝑠𝑝. 0) 

𝑓(𝑥) 𝑔(𝑥) 
𝑓′(𝑥)

𝑔′(𝑥)

lim
𝑛→1

𝑥−1

𝑥2+𝑥−2
= lim

𝑛→1

1

2𝑥+1
=

1

3
  

• 

4𝑥2 + 2𝑥 + 7

𝑥2 + 1
=

𝑥2 (4 +
2
𝑥 +

7
𝑥2)

𝑥2 (1 +
1
𝑥2)

=
4 +

2
𝑥 +

7
𝑥2

 1 +
1
𝑥2



±∞, ′𝑥′

4

1
= 4 !



𝑃(𝑡) = 𝑃0 ⋅ 𝑓(𝑡) 𝑃(𝑡)

𝑡 𝑃0 𝑡0
𝑓(𝑡)

𝑓(𝑡)
𝑷(𝒕)

𝑷𝟎

 
2

1
= 2  

4

1
= 4

1500

1000
= 1,5 

20 000 000

14 000 000
=

20

14
≈ 1,43

𝑑1

• 𝑑1 𝐴(2; 3) 𝐵(7 ; 6)

𝑚 =
𝑦2 − 𝑦1

𝑥2 − 𝑥1
=

6 − 3

7 − 2
=

3

5

• 𝒅𝟏 ⊥ 𝒅𝟐  ⇔ 𝒎𝟏 ⋅ 𝒎𝟐 = −𝟏

𝑑2, 𝑑1 𝑚2 = −
1

𝑚1
= −

5

3

• 𝑑2 𝑦 = −
5

3
𝑥 + 𝑏

𝑥

• 𝐶(4; 1) 𝑑2 𝑥 = 4 , 𝑦 = 1 ⇒

1 = −
5

3
⋅ 4 + 𝑏 = −

20

3
+ 𝑏 ➔ 𝑏 = 1 +

20

3
=

23

3



• ⇒ 𝑑2 𝑦 = −
5

3
𝑥 +

23

3

• 

{

5

3
𝑥 + 𝑦 =

23

3
        (1)

2𝑥 + 𝑦 = 8            (2)
  

(2) − (1) ⇒ 2𝑥 −
5

3
𝑥 = 8 −

23

3
  ⇔

𝑥

3
=

1

3
 ⇔ 𝑥 = 1   

𝑥 = 1 (2) ➔ 2 ⋅ 1 + 𝑦 = 8  ⇔ 𝑦 = 6

(𝟏 ; 𝟔).

 𝜋 < 𝛼 <
3𝜋

2

𝛼

 sin 𝛼 = −0,8

𝛼

cos 𝛼 

sin2 𝛼 + cos2 𝛼 = 1 sin 𝛼 = −0,8 , sin2 𝛼 = 0,64.

cos2 𝛼 = 1 − sin2 𝛼 = 1 − 0,64 = 0,36.

cos 𝛼 = 0.6  𝑂𝑈 − 0,6 

cos 𝛼 cos 𝛼 = −0,6

tan𝛼 =
sin𝛼

cos𝛼 
=

−0,8

−0,6
=

𝟒

𝟑
 



𝑃𝑄⃗⃗⃗⃗  ⃗ 𝑆𝑅⃗⃗⃗⃗  ⃗

𝑃𝑆⃗⃗ ⃗⃗  𝑄𝑅⃗⃗ ⃗⃗  ⃗

𝑄𝑆⃗⃗⃗⃗  ⃗ − 2 𝑃𝑄⃗⃗ ⃗⃗  ⃗

𝑃𝑆⃗⃗ ⃗⃗  𝑃𝑅⃗⃗⃗⃗  ⃗

• 𝑄𝑆⃗⃗⃗⃗  ⃗

o 𝑄𝑆⃗⃗⃗⃗  ⃗ = 𝑄𝑅⃗⃗⃗⃗  ⃗ + 𝑅𝑆⃗⃗⃗⃗  ⃗. 𝑄𝑅⃗⃗ ⃗⃗  ⃗  ∥ 𝑃𝑆⃗⃗ ⃗⃗    ⇒  𝑄𝑆⃗⃗⃗⃗  ⃗ = 𝑃𝑆⃗⃗ ⃗⃗  + 𝑅𝑆⃗⃗⃗⃗  ⃗  

𝑃𝑆⃗⃗ ⃗⃗  

𝑃𝑅⃗⃗⃗⃗  ⃗

• 𝑃𝑄⃗⃗⃗⃗  ⃗ !

o 𝑃𝑄⃗⃗⃗⃗  ⃗ = 𝑃𝑅⃗⃗⃗⃗  ⃗ + 𝑅𝑄⃗⃗⃗⃗  ⃗. 𝑅𝑄⃗⃗ ⃗⃗  ⃗  ∥ 𝑆𝑃⃗⃗ ⃗⃗    ⇒  𝑃𝑄⃗⃗⃗⃗  ⃗ = 𝑃𝑅⃗⃗⃗⃗  ⃗ + 𝑆𝑃⃗⃗ ⃗⃗   ⇒ 2 𝑃𝑄⃗⃗⃗⃗  ⃗ = 2 𝑃𝑅⃗⃗⃗⃗  ⃗ + 2 𝑆𝑃⃗⃗ ⃗⃗    

 𝑄𝑆⃗⃗⃗⃗  ⃗ − 2 𝑃𝑄⃗⃗ ⃗⃗  ⃗ =  𝑃𝑆⃗⃗ ⃗⃗  + 𝑅𝑆⃗⃗⃗⃗  ⃗ −  2 𝑃𝑅⃗⃗⃗⃗  ⃗ − 2 𝑆𝑃⃗⃗ ⃗⃗  =  𝑃𝑆⃗⃗ ⃗⃗  + 𝑅𝑆⃗⃗⃗⃗  ⃗ −  2 𝑃𝑅⃗⃗⃗⃗  ⃗ + 2 𝑃𝑆⃗⃗ ⃗⃗   

= 3 𝑃𝑆⃗⃗ ⃗⃗  + 𝑅𝑆⃗⃗⃗⃗  ⃗ −  2 𝑃𝑅⃗⃗⃗⃗  ⃗

𝑅𝑆⃗⃗⃗⃗  ⃗ 𝑅𝑆⃗⃗⃗⃗  ⃗ = 𝑅𝑃⃗⃗⃗⃗  ⃗ + 𝑃𝑆⃗⃗ ⃗⃗  

 𝑄𝑆⃗⃗⃗⃗  ⃗ − 2 𝑃𝑄⃗⃗ ⃗⃗  ⃗ = 3 𝑃𝑆⃗⃗ ⃗⃗  + 𝑅𝑃⃗⃗⃗⃗  ⃗ + 𝑃𝑆⃗⃗ ⃗⃗  −  2 𝑃𝑅⃗⃗⃗⃗  ⃗ =  4 𝑃𝑆⃗⃗ ⃗⃗  −  𝑃𝑅⃗⃗⃗⃗  ⃗ − 2 𝑃𝑅⃗⃗⃗⃗  ⃗ =  𝟒 𝑷𝑺⃗⃗⃗⃗  ⃗ − 𝟑 𝑷𝑹⃗⃗⃗⃗⃗⃗ 



𝛼
𝜋

2
< 𝛼 <

𝜋

cos4(𝛼) − sin4(𝛼) 

𝑎2 − 𝑏2 = (𝑎 + 𝑏)(𝑎 − 𝑏) 𝑎4 − 𝑏4 = (𝑎2 + 𝑏2)(𝑎2 − 𝑏2)

cos4(𝛼) − sin4(𝛼) = (cos2 𝛼 + sin2 𝛼)(cos2 𝛼 − sin2 𝛼) =
1

2

cos2(𝛼) + sin2(𝛼) = 1 

cos2 𝛼 − sin2 𝛼 = cos (2𝛼)

cos4(𝛼) − sin4(𝛼) = cos(2𝛼) =
1

2
1

2
 ?

𝜋

3

2𝛼 =
𝜋

3
 ⇒ 𝛼 =

𝜋

6
= 30°

𝛼 
𝜋

2
𝜋.

cos(𝜃) =
1

2
. 𝜃 = 2𝜋 −

𝜋

3
=

5𝜋

3

cos(2𝛼) =
1

2
  ⇔ 2 𝛼 =

5𝜋

3
 ⇒ 𝜶 =

𝟓𝝅

𝟔

𝜎 = √(
∑ (𝑥𝑖 − 𝜇)2)𝑛

𝑖=1

𝑛
)   



• 𝑛

𝑛 𝜎

• 

• (𝑥𝑖 − 𝜇) 𝜇).

• 

√𝑎 + √𝑎2 − 𝑏

2
+ √𝑎 − √𝑎2 − 𝑏

2

𝛼 = √𝑎2 − 𝑏

√𝑎 + √𝑎2 − 𝑏

2
+ √𝑎 − √𝑎2 − 𝑏

2
= √

𝑎 + 𝛼

2
  + √

𝑎 − 𝛼

2
  



= √(√
𝑎 + 𝛼

2
+ √

𝑎 − 𝛼

2
)

2

= √
𝑎 + 𝛼

2
+

𝑎 − 𝛼

2
+

2 √(𝑎 + 𝛼)(𝑎 − 𝛼)

√4
  

= √𝑎 + √𝑎2 − 𝛼2

𝛼 𝛼2 = 𝑎2 − 𝑏

 √𝑎 + √𝑎2 − 𝛼2 = √𝑎 + √𝑎2 − 𝑎2 + 𝑏 =  √𝒂 + √𝒃
  

𝑓(𝑥) =
ln(𝑥) + 1

𝑥

• (
𝑓

𝑔
)
′

=
𝑓′𝑔−𝑓𝑔′

𝑔2

• (ln 𝑥)′ = 1/𝑥 

𝑓′(𝑥) =
(ln(𝑥) + 1)′ ⋅ 𝑥 − (ln(𝑥) + 1) ⋅ 𝑥′)

𝑥2
=

1
𝑥 ⋅ 𝑥 − ln 𝑥 − 1

𝑥2
= −

ln(𝑥)

𝑥2

 



𝑥1+𝑥2+𝑥3+𝑥1

4
= 10 ⇔  𝑥1 + 𝑥2 + 𝑥3 + 𝑥1 = 40

                                         ⇔  2 𝑥1 + 𝑥2 + 𝑥3 = 40 

𝑥1+𝑥2+𝑥3+𝑥2

4
= 12 ⇔  𝑥1 + 𝑥2 + 𝑥3 + 𝑥2 = 48 

                                        ⇔   𝑥1 + 2 𝑥2 + 𝑥3 = 48 

𝑥1+𝑥2+𝑥3+𝑥3

4
= 14 ⇔ 𝑥1 + 𝑥2 + 𝑥3 + 𝑥3 = 56 

                                       ⇔  𝑥1 + 𝑥2 + 2 𝑥3 = 56 

{

2 𝑥1 + 𝑥2 + 𝑥3 = 40          (1) 
𝑥1 + 2 𝑥2 + 𝑥3 = 48          (2) 
𝑥1 + 𝑥2 + 2 𝑥3 = 56          (3)

(1) 𝑥3 = 40 − 2𝑥1 − 𝑥2 (2) (3)

⇒  {
𝑥1 + 2 𝑥2 + 40 − 2𝑥1 − 𝑥2 = 48

𝑥1 + 𝑥2 + 2(40 − 2𝑥1 − 𝑥2) = 56
   ⇔   {

−𝑥1 +  𝑥2 = 8
−3 𝑥1 − 𝑥2 = −24

⇔ {
3𝑥1 − 3 𝑥2 = −24
−3 𝑥1 − 𝑥2 = −24

−4𝑥2 = −48 ⇒ 𝑥2 = 12 ⇒  𝑥1 = 4   ⇒  𝑥3 = 20

• 
2+10+26+2

4
  =
?

10 ∶ 𝑜𝑢𝑖

• 
2+10+26+10

4
=
?

12 ∶ 𝑜𝑢𝑖

• 
2+10+26+26

4
=
?

14 ∶ 𝑁𝑂𝑁 ➔

• 
3+11+23+3

4
  =
?

10 ∶ 𝑜𝑢𝑖



• 
3+11+23+11

4
=
?

12 ∶ 𝑜𝑢𝑖

• 
3+11+23+23

4
=
?

14 ∶ 𝑁𝑂𝑁(= 15) ➔

• 
4+12+20+4

4
  =
?

10 ∶ 𝑜𝑢𝑖

• 
4+12+20+12

4
=
?

12 ∶ 𝑜𝑢𝑖

• 
4+12+20+20

4
=
?

14 ∶ 𝑜𝑢𝑖

√(1 + √5)
2
− √(2 − √5)

2

1 + √5

2 − √5

√4 = 2 √5 > √4 √5 > 2 𝟐 − √𝟓 <  𝟎 !

√(2 − √5)
2
= √5 − 2

√(1 + √5)
2
− √(2 − √5)

2
=  1 + √5 − (√5 − 2) = 3

2√9 − 3 = 3 !



𝑓(𝑥) = 36𝑥 − 2𝑥2 − 34

𝑓(𝑥) = −2𝑥2 + 36𝑥 − 34

𝒙𝟐  " − 2"

𝑏2 − 4𝑎𝑐 = (36)2 − 4(−2)(−34) = (36)2 − (8) ⋅ 34

𝑏2 − 4𝑎𝑐 > 0

𝑎 < 0)

o 

o 

(𝑎𝑥)3 − (𝑎𝑥)2 + 𝑎𝑥 = 0

𝑥 = 0, 𝑥 ≠ 0.

𝑥

𝑎3𝑥2 − 𝑎2𝑥 + 𝑎 = 0  ⇔ 𝑎(𝑎2𝑥2 − 𝑎𝑥 + 1) = 0

𝑎 = 0 

𝑎 ≠ 0, 𝑎. 
𝑎2𝑥2 − 𝑎𝑥 + 1 = 0

𝑎 = 1 ? 𝑥2 − 𝑥 + 1 = 0 ?
𝑏2 − 4𝑎𝑐 = 1 − 4 ⋅ (1) ⋅ (1) = −3 < 0



𝑏2 − 4𝑎𝑐 < 0 𝑥2 − 𝑥 + 1 = 0 𝑎 = 1

𝑎2𝑥2 − 𝑎𝑥 + 1 = 0

𝑎 = 0 

𝑎 = 1 

𝑎 = 0

𝑓(𝑥) = 3√𝑥23
− 4√𝑥3

⇔

𝑓(𝑥) =  3 𝑥
2
3 − 4 𝑥

3
2

 𝑓′(𝑥) = 3 ⋅
2

3
𝑥

2

3
−1 − 4 ⋅

3

2
 𝑥

3

2
−1 = 2 𝑥−

1

3 − 6 𝑥
1

2 = 2 √
1

𝑥

3
− 6√𝑥

 𝑓′(1) = 2 − 6 = −4



𝑓(𝑥) =
3

𝑥
− 2 +

4𝑥2 − 2

𝑥2 + 1

• lim
𝑥→∞

3

𝑥
= 0

• lim
𝑥→∞

−2 = −2

• lim
𝑥→∞

4𝑥2−2

𝑥2+1
= lim

𝑥→∞

𝑥2(4−
2

𝑥2)

𝑥2(1+
1

𝑥2)
= lim

𝑥→∞

4−
2

𝑥2

1+
1

𝑥2

= 4

lim
𝑥→∞

 𝑓(𝑥) = lim
𝑥→∞

 (
3

𝑥
− 2 +

4𝑥2−2

𝑥2+1
) = 0 − 2 + 4 = 2

𝑦 = 2

(0; 2)
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